(BHx£11-2)

SEE ARGEIIRbESEESHGEEFHEDE FRERNIRES

S R E DS
1 IR (B )
YZARE ® 8 &%
I EBRESEY DS 2.219.000| _
g E B R EE S 440,000 ~
BEME 3,409,183 | ~ -~ -
A A5300 7 4 A—4A—6.71-2
S - - 18,600 k 1-2 )
SEEFEAEIRA 132,000 -2,
it 6264083
2. XH
1) EHR (4 F)
MBI E R
BE : =
SHBERE| MUHRBE suiinne TEEF | 0| BB
2= BEL D=2 |[@+@)c2| *
71 KA RU HBAFHE 29, 638) 29,638
7 2 [BARERCEMSILES| 199,19 - 49, 987) -
7! 3 |FEBRFUEE 15560/~ 15,560 -
1 1 |BBEREY—ERER 79,655 — 79, 3p8| -
12 [ZhpLERES 120,890(— 120,890 -
1 3 |HERRUER 981, 128| ~ 465,329 —
1 4|3nasnBnEg 257,183| - 254,643 -
5 1 |[MEEEs OB 105,465 - 105, 465( <
T 1 |EABUORSEE | 451,505 ~ 450,505 ~
T 2 BEII2STFRMEEE 2143,291) - 2.076,547| 7
1 |tyE0Y 25,770| - 25770/ <
* 2 |svtEs 10,022 10, 022| 7
*| 3 [HRED 4320 . 4320~
* | 4 |fEEEER | esero| L3870/
* 5 |FEN bBOEFAE | 152678 - 1487007
* 6 |rcHuRE 20,838 ~ 20,838
A 1 |FEORETRARE | 30,863 ~ 39,868
F4 8 |REVF—AER 0 0
* 9 [BR - fEmTFLLERBE 0 o 7
£ oN0jF—wEmos | a2, 13290
A 11 |[EEERMES 49,991~ 46,975}
h 1 |BEY 980,696} - 980, 695/ <
» 2 |shesLa—=/0 | 106752~ 52850( ]
B 3 | BEEE 0 0|-
h 4 [ERIREED Y REHELE 0| 0]
51 5 [RRREXROBERUREAR o ol
5 6 |6TER of/ o
57 [k 12, 320 12, 320|
N 5,824,011/ ®| 5,027,501 2,518,750 3,770,625] 2,219,000
2)BER .S - (8ifi: M)
(AL D EWBRBHE| 2,219,000,
BERWDENE LR GEHERHDRERBOX25%) A| | St | 440072 mEnEmE| 440,000
2,219,000 x 025 = 554,750 | [ESEEZZ| 440,000 &zt | 2,659,000

X IEEEMHEIAN 1005 ML L2005 LT ThHL, EEBHBIEHE LREIIS05 M
¥ IEBERMHEENI0F ARG THhhZ, BEERMBE&PE LREIIESEMBIE&DL, 2




